Treated Pine Backless Bench Assembly Instructions

Parts Hardware Required Tools
2. Leg Assemblies 4-  1/4” x 3-1/4" Carriage Bolts 7/16 * Socket Or Adjustable
Wrench
2- Braces 4-  1/4” Nuts
e Hammer for tapping bolts and
2- Bench Top 4- 1/4" x 2" Washerhead Lags Seri
Pre Drilled Holes
e = o
/ I L1
Pre Drilled Holes
gl‘JpB;onricsh Top 2x4 Cross Brace
L\“ I [
\_ = —3

Bench Top (Bottom View) Leg Assembly (Side View)

* We have found that it is

Be sure the 2x4 Cross sometimes easier to start each
Brace faces out and screw or bolt by lightly tapping
lines up with the top . o it once with a hammer

support. [ i\ === — Washerhead Lag —— === Al ]

i |
T T / 45° Brace
Carriage Bolt — (jmmmm i, o | /o niiy —=e———f) —— Carriage Bolt

i s J

Step 1. Lay the bench top upside down on a clean flat surface. (We recommend using the box that the
package was shipped in) Place each leg assembly on the inner edge of the top support, via the
pre drilled holes, and fasten with a 1/4” x 3-1/4” Carriage Bolt, 1/4” and Nut. Please be sure the
leg assembly is square with the bench top and that the 2x4 Cross Brace faces out and lines up
with the top support.

Step 2. Use the 1/4” x 2" Washerhead Lags to attach the 45° Braces.

Step 3. Turn the bench upright. Tighten the screws and/or bolts if necessary.



